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Name: __________________________________



1
Which expression is equivalent to [image: image1.png]


?

2
Which expression is equivalent to [image: image2.png]


?

3
The expression [image: image3.png](2a)™



 is equivalent to

4
The expression [image: image4.png](3c)7



 is equivalent to

5
Which expression is equivalent to [image: image5.png]


?

6
Which expression is equivalent to [image: image6.png](522 by



?

7
Which expression is equivalent to [image: image7.png]


?

8
The expression [image: image8.png]


 is equivalent to

9
Which expression is equivalent to [image: image9.png]


?

10
Which expression is equivalent to [image: image10.png]


?

11
If [image: image11.png]


 and [image: image12.png]


, what is the value of the expression [image: image13.png]


, when [image: image14.png]c# 0



?
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The expression [image: image15.png]-3~ 5x+2




  can be rewritten as

	1)
	[image: image16.png]-3x-3
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	2)
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	3)
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Which equation is equivalent to [image: image20.png]10"




?

	1)
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	2)
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	3)
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	4)
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If n is a negative integer, then which statement is always true?

	1)
	[image: image25.png]< 4n





	2)
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	3)
	[image: image27.png]< 4n





	4)
	[image: image28.png]dn~t > (6m) 7







15
Express [image: image29.png]12575
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 in simplest form, using only positive exponents.

16
Simplify the expression [image: image30.png]


 and write the answer using only positive exponents.

17
Given that [image: image31.png]


, where [image: image32.png]y =0



, determine the value of n.


1
ANS:
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ANS:
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3
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ANS:
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5
ANS:
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ANS:
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7
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ANS:
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[image: image44.png]|




REF:
061506a2

11
ANS:
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3
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.  Flip sign when multiplying each side of the inequality by n, since a negative number.
REF:
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ANS:
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